Patio Bistro 240 50mb - model 15601901 + 15601901-C1

Key |Qty |Description Part # Kriswell Art.No.
1 | 1 |GRILL LID Black 29104510 150 148
1 | 1 |GRILL LID Red 29104597 150 001
2 | 1 |LOWER BODY Black 55710634 150 049

LOWER BODY Red 55710720 150 009
3 | 1 |HEAT TENT 29102227 150 091
4 | 1 |BURNER 29102220 150 092
5 | 1 |IGNITER SWITCH MODULE 55710881 150 093
6 | 1 [BEZEL 29104469 150 094
7 | 1 |WIND SHIELD 29102143 150 016
8 | 1 |INNER REFLECTOR 29102147 150 095
9 | 1 |TOWEL BAR 29101985 150 096
10 | 1 |LID HANDLE 29101995 150 018
11 | 1 |CONTROL PANEL 29104508 150 097
12 | 2 |WHEEL 29101999 150 020
13 | 1 |CONTROL KNOB 29102017 150 072
“4 | 1 |[REARLEG SET 29102640 150 098
15| 1 |FRONT LEG SET 29101969 150 022
16 | 1 |GREASE TRAY 29102226 150 023
17 | 2 |HUBCAP 29102000 150 024
18 | 1 |VALVE ASSEMBLY 29103743 150 237
19 | 1 |WARMING RACK 29101992 150 108
20 | 2 |AXLE 29102001 150 026
21 | 1 [HEAT INDICATOR 55710887 150 138
22 | 1 |COOKING GRATE 29102148 150 149
23 | 1 |[MATCH HOLDER 29101192 150 151
24 | 1 |CART BASE 29104881 150 161
25 | 1 |CART BRACKET 29102172 150 030
26 | 2 [LEG CAP 29101973 150 031
27 | 1 [IGNITION MODULE 29102020 150 073
28 | 1 |ELECTRODE WIRE 29102204 150 163
29 | 1 [IGNITOR ELECTRODE 29102153 150 164

9| 2 [LIDBUMPER 29102189 150 166
31| 1 |[MATCH LIGHT HOLE COVER 29102184 150 168
32 | 1 |GREASE TRAY GUIDE 29102904 150 035
33 | 1 |HEAT SHIELD, CONTROL PANEL 29104076 150 169
34 | 1 [LOGO PLATE 55710883 150 174

1 |HARDWARE PACK 42030559 150 041
1 |ASSEMBLY GUIDE 42805186 150 183
1 |PRODUCT GUIDE 42805187 150 184
1 |GRATE CLEANING TOOL 29102192 150 081




Parts Diagram Q 7/ s
& g

« A

2L 1T T
llll]llllllllllllll

4




Assembly

@

3/8-16 nut X2

@ A , =)

Wheel retaining clip X2




#10x3/8" screw X2

After cart assembly,

- if your cart does not N
sit level, use these

screws to adjust the

cart. l

1/4-20 x 1/2” screw X2

1/4-20 x 1/2” screw X2

Final assembly



10-24 nut X7




1/4-20 nut X4

Qs

1/4-20 x 2" screw X4



10-24 nut X3 Q\“ U 0]

1/4-20 x 3/4” hinge
screw X2

1/4-20 nut X2






Electrode wire (small terminal)

I K

A
5/
I

10



BPEEO®

Countries

1"



